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ogyE v 360,036
S 90,0853 * 122 *200 216,204
oFgay 90,0853 x 12 ~40! 43,241
oAHXFIt=E 90,0853 *12H+8L 8,649
oMz 2
1,305 %12 +332 5,558
oORIZRsE
90,0853 x50+ 12H x64 34,593
ogdIRed
90,0853 *150%* 128 x202 32,431
o=SXEE 300,000& *12H 3,600
ocHEAN= 300,000& * 12 3,600
oSaAAATY|
45,0003 x24E 23] 2,160
201 2= 71,621 78,178 26,557
01 AtR2t2lt] 46,380 7,200 39,180
OCCIVESE 2tHIdIE =Xl2el EF 39,080
oHMW |24+ EH
520,286,000& *3. 5% 18,211
oSW RXZ 2
321,053,000 6. 5% 20,869
OSE2NHE 2AH e
100,000& x5 & =22 1,000
OS2 N =gl
300,000 x 12 3,600
OSE2MHEE W == LXt
150,000« 12& 1,800
OFLHE A 2HH|
150,000 6 900
02 S3=24l 25,241 70,978 N5, 737
OCCTVEE 2 NIEE AIZEHl KXY 25,241
oH/W AlAEl 520,286,000 *3% 15,609
oS/ AIAE 321,053,000 *3% 9,632
405 AHAHE S 20,000 20,000
01 AL =S F=H| 20,000 20,000
og=2esll uH 20,000,000& * 14| 20,000
HH2LZH(EE2NI) 261,445 253,682 7,763
el 2| 210,337 210,017 320
THEE UHE23Y| 108,253 108,155 ]
101 21AH| 108,253 108,155 B
01 2= 69,584 69,584 0
OgetIIM 8= 69,584
ogiE 57,825,000 57,825
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A B2US
M HYRAZH(EL2LS)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ESE 720,000 720
SRR =] 140,000 x 122 1,680
oXg 24| 180,000 « 128 2,160
oG IE A 2,320,710& 2,321
oAZe2eg
10, 1623 x40AI 2H+ 123 4,878
02 JIEtAE = 38,669 38,571 B
OAIZIEHRMIIM 0= 38,669
odis 28,455,000& 28,455
otERE 720,000 720
oFASAH 140,000~ 12& 1,680
o X g 24| 153, 1203 * 122 1,838
oSARsY 100,000& * 122 1,200
o GHIIE2 4| 752,524& 753
oAe2eE
9,860& *34A12H+12E 4,023
HUuSA 23| 102,084 101,862 222
101 @124H| 102,084 101,862 222
01 &2 63,291 63,291 0
OLErEIIN 83 63,291
odis 52,612,000 52,612
otERE 720,000 720
oFASAH 140,000~ 12& 1,680
o X g 24| 180,000& * 12 2,160
o HIIE A 1,971,951& 1,972
oA2tel+=E 10, 162& x34A1 2H= 123 4,147
02 JIEtM = 38,793 38,571 222
OAZEERAIIM cta 38,793
ogiE 28,455,000& 28,455
otERY 720,000& 720
oy AHIAH| 140,000 ~ 128 1,680
oXNZEXIH| 163,120« 12& 1,838
oSxAR2d 100,000& «12& 1,200
oG JE A 752,5243 753
oA2t2eg 10,1623 x34A1 2+ 123 4,147
=34l 51,108 43,665 7,443
SAII2ZH 51,108 43,665 7,443
201 2= 12,564 8,217 4,347
01 At22t2l] 12,564 8,217 4,347
ORAM2Y JIZ2+EH|
279,000 16H 4,464
OJzg=-8 =&tl
9,000 x5A!x 15 * 12 8,100
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SN E2DSY
M HYRAZH(EL2LS)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 34,944 32,448 2,4%
01 2LHoIH 34,944 32,448 2,4%
OJl2g R4 0yl
260,000 * 142 x 123 +80% 34,944
203 HR=AH] 3,600 3,000 600
MU FA2SHIFII 3,600 3,000 600
ORNEXZE 300,000& * 128 3,600
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